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Point 1

Существенно

In our journals, the Russian word существенно is nearly 100% of the time mistranslated as “essentially.” The reason why is because “essentially” is the first entry in the definition for this word in almost all Russian-to-English dictionaries, more than likely because of its root сущ-. “Essential” in its common interpretation by native speakers of English refers to something that is important or necessary for existence or the completion of a task.  In the overwhelming majority of cases when существенно is used, what is meant is “substantially” or “significantly.” It is my personal recommendation that all translators should by default translate the word as such, never using “essentially.” That way we would only err in perhaps less than 0.10% of cases in which the word actually might mean “essentially.”  
Будет существенно меньше работы для всех. 
There will be significantly/substantially less work for everyone.
(
Point 2

Равно and равняться

One example:
Коэффициент корреляции двух канлов равен 0.74.

Translators often render this as follows: 

The correlation coefficient of the two channels is equal to 0.74.

Or

The correlation coefficient of the two channels equals 0.74.

This is Russian grammar that cannot be carried over directly into English.  There is no equivalence being expressed here. Let’s take a look at a true case of transitive equivalence: a = b, b = c, a = c, which technically can be rendered backward with no change in meaning: b = a, c = b, c = a.  If, similarly, we express the above examples backwards, that is, to say that 0.74 is equal to the correlation coefficient, this makes little sense; however, if “equals” is used in this context, this meaning is inherently conveyed, which makes this very stilted, un-English.  A good test is to ask yourself in the given situation if равно or равняться can be substituted by принимать значение (to take a value of).  If that is the case, “equals” should not be used. 
Instead равно or равняться should be translated into English simply as either “is” or “are” depending on person and number.   

The correlation coefficient is 0.74.  

Point 3

Two examples of the preposition “к”

1. интерес к ( interest in

интерес к данной проблеме ( interest in the given problem

2. требования к ( requirements on

требования к обработке металлов ( requirements on treating metals

Point 4

кроме того

This small phrase is an epidemic problem.  Translators nearly always render it as “besides.”  In modern English usage, “besides” has a common colloquial connotation that the thing being mentioned is more important than what had been stated previously, almost dismissively so.  For example:

I’m not worried about being late; I still have half an hour.  Besides, my brother is taking me in his car, and we can be there in five minutes.
In science articles, the proper way to translate кроме того is “in addition” or “additionally.”  For example:

Плоское зеркало здесь не нужно, а изображение легко доступно, поскольку находится оно в точке S' за пределами схемы.  Кроме того, световой пучок отражается от контрольного зеркала, что вдвое уменьшает влияне его ошибок.
A flat mirror is not necessary here, and the image is easily obtained, since it is at point S' outside the scheme. In addition, the light beam is reflected from the reference mirror, which decreases the influence of its errors by a factor of 2.
Point 5

Роль принадлежит чему-либо 
This phrase is more often than not translated mistakenly into English literally as “the role of something belongs to something,” and many stylists neglect to correct it.  Grammatically, there’s nothing wrong with it; however, this phrase isn’t used in English.  The set phrase is “the role is played by something.”

Главная роль в окислении принадлежит электронам.

The main role in oxidation is played by electrons.

or
Electrons play the main role in oxidation.
